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The Graduate Record Examinations Practice General Test #3

Instructions for the Verbal Reasoning and Quantitative

Reasoning Sections

For your convenience, these instructions are included both in the

test book for Sections 2 and 3, and 1n the test book for Sections 4

and 5. The instructions are the same 1n both locations.

As a reminder, standard timing for each section of the test is shown

in the following table:

Section Order |Section Name Standard Time
1 Analytical Writing 30 minutes
2 Verbal Reasoning 21 minutes
3 Verbal Reasoning 28 minutes
4 Quantitative Reasoning | 24 minutes
5 Quantitative Reasoning | 32 minutes

Unauthorized copying or reuse of
any part of this page is illegal.
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Important Notes

In the actual test, your scores for these sections will be determined
by the number of questions you answer correctly. Nothing is
subtracted from a score if you answer a question incorrectly.
Therefore, to maximize your scores it 1s better for you to guess at
an answer than not to respond at all. Work as rapidly as you can
without losing accuracy. Do not spend too much time on questions
that are too difficult for you. Go on to the other questions and come
back to the difficult ones later.

Some or all of the passages in this test have been adapted from
published material to provide the examinee with significant
problems for analysis and evaluation. To make the passages suitable
for testing purposes, the style, content, or point of view of the
original may have been altered. The ideas contained in the passages
do not necessarily represent the opinions of the Graduate Record

Examinations Board or Educational Testing Service.

You may use a calculator in the Quantitative Reasoning sections
only. You will be provided with a basic calculator and cannot use
any other calculator, except as an approved accommodation.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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Marking Your Answers

In the actual test, all answers must be marked in the test book.
The following instructions describe how answers must be filled in.

Y our answers will be hand-scored, so make sure your marks are
clear and unambiguous. Examples of acceptable and unacceptable

marks will be given with the sample questions.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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Question Formats

This practice test may include questions that would not be used in
an actual test administered in an alternate format because they have

been determined to be less suitable for presentation in such formats.

The questions in these sections have several different formats.
A brief description of these formats and instructions for entering
your answer choices are given as follows.

Multiple-Choice Questions—Select One Answer Choice

These standard multiple-choice questions require you to select just
one answer choice from a list of options. You will receive credit

only if you mark the single correct answer choice and no other.

Example:

What city is the capital of France?

(A) Rome
(X Paris
(C) London
@ Cairo

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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If you change an answer, be sure that all previous marks are erased
completely. Stray marks and incomplete erasures may be read as
intended answers. Blank areas of the test book may be used for
working out answers, but do not work out answers near the
answer-entry areas. Scratch paper will not be provided, except as
an approved accommodation.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
Q-




Multiple-Choice Questions—Select One or More Answer
Choices

Some of these questions specify how many answer choices you
must select; others require you to select all that apply. In either
case, to receive credit all of the correct answer choices must be
marked. These questions are distinguished by the use of a square
box to be marked to select an answer choice.

Example:
Select all that apply.

Which of the following countries are in Africa?

Chad
B | China

C | France

Kenya

Unauthorized copying or reuse of
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Column Format Questions

This question type presents the answer choices in columns. You

must pick one answer choice from each column. You will receive

credit only 1f you mark the correct answer choice in each column.

Example:

Complete the following sentence.
(1) 1s the capital of (1)

Blank (1)

Blank (11)

@ Paris

@ Canada

Rome

@ France

@ Cairo

CED China

Unauthorized copying or reuse of
any part of this page is illegal.
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Numeric Entry Questions

These questions require a number to be entered by circling entries

in a grid. If you are not entering in your own answers, your scribe

should be familiar with these instructions.

.

Your answer may be an integer, a decimal, or a fraction, and
it may be negative.

. Equivalent forms of the correct answer, such as 2.5 and 2.50,

are all correct. Fractions do not need to be reduced to lowest
terms, though you may need to reduce your fraction to fit in
the grid.

. Enter the exact answer unless the question asks you to round

your anSwer.

. If a question asks for a fraction, the grid will have a built-in

division slash (/). Otherwise, the grid will have a decimal
point.

. Start your answer in any column, space permitting. Circle

no more than one entry in any column of the grid. Columns
not needed should be left blank.

. Write your answer in the boxes at the top of the grid and

circle the corresponding entries. You will receive credit

only if your grid entries are clearly marked, regardless

of the number written in the boxes at the top.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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Examples of acceptable ways to use the grid:
Integer answer: 502 (either position is correct)

2

0

0olo/olo|(®lo]o

2121212 121@]2

30333333
41alalalalala
515153555

6,66 6|6 6|6
TNVT 717|777
818|888 |8|8
9991919191919

2

0

GO ON TO THE NEXT PAGE.

14-

olo|@lololo]o

212121121212
303/13(3[3/3]3
414144444

513 5(5(5]5]5

6666 6|66
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Decimal Answer: —4.13

4 1
e
olololofo|o]o0
111111
202120202212
303(313(313|3
414141@ 444
505(5(5(5/(5/5
6166|6666
717071771717
8/8/8/8/8 /88
919999909
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Fraction Answer: —l

10

- 2 /110

©l0l0|0 0|@] 0
L1l @11
2 1D 2 21212
3033 3033
4044 4044
5055 5055
666 666
71717 71717
8|88 8|88
919109 91909

Section 4 follows. In an actual test, your supervisor will tell you
when to continue the test.

Unauthorized copying or reuse of
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Directions:

Notes:

Section 4
Quantitative Reasoning
15 Questions

For each question, indicate the best answer, using the
directions given.

All numbers used are real numbers.

All figures are assumed to lie in a plane unless
otherwise indicated.

Geometric figures, such as lines, circles, triangles,

and quadrilaterals, are not necessarily drawn to scale.

That 1s, you should not assume that quantities such

as lengths and angle measures are as they appear in a
figure. You should assume, however, that lines shown
as straight are actually straight, points on a line are in
the order shown, and more generally, all geometric
objects are in the relative positions shown. For
questions with geometric figures, you should base
your answers on geometric reasoning, not on
estimating or comparing quantities from how they

are drawn 1n the geometric figure.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.

18-



Coordinate systems, such as xy-planes and number

lines, are drawn to scale; therefore, you can read,
estimate, or compare quantities in such figures from

how they are drawn in the coordinate system.

Graphical data presentations, such as bar graphs, circle
graphs, and line graphs, are drawn to scale; therefore,
you can read, estimate, or compare data values from
how they are drawn in the graphical data presentation.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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For each of Questions 1 to 5, compare Quantity A and
Quantity B, using additional information centered above
the two quantities if such information is given. Select one
of the following four answer choices.

A Quantity A is greater.

Quantity B is greater.

CC The two quantities are equal.

D> The relationship cannot be determined from the

information given.

A symbol that appears more than once in a question has the
same meaning throughout the question.

Quantity A Quantity B

Example 1: (2)(6) 246

The correct answer choice for Example 1 is A. (2)(6), or 12, is
greater than 2 + 6, or 8.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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P R

Quantity A Quantity B

Example 2: The length of PS The length of SR

The correct answer choice is D. The relationship between the
lengths of PS and SR cannot be determined from the information
given since equal measures cannot be assumed, even though the

lengths of PS and SR appear to be equal in the figure.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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Line k 1s parallel to line m.

Quantity A Quantity B

1. X+y w+z

CAD Quantity A is greater.

Quantity B is greater.

(O The two quantities are equal.

(D> The relationship cannot be determined from the

information given.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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4 percent of s is equal to 3 percent of #, where s > 0

Quantity B

and t > 0.

Quantity A
t

CAD Quantity A is greater.

Quantity B 1s greater.
(O The two quantities are equal.
(D> The relationship cannot be determined from the

information given.

GO ON TO THE NEXT PAGE.

-23-

Unauthorized copying or reuse of
any part of this page is illegal.




Three circles with their centers on line segment PQ are
tangent at points P, R, and Q, where point R lies on
line segment PQ.

Quantity A Quantity B
3. The circumference of the The sum of the circumferences
largest circle of the two smaller circles

CAD Quantity A is greater.

Quantity B 1s greater.

(O The two quantities are equal.

(D> The relationship cannot be determined from the
information given.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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x>y

Quantity A

X+ |

@ Quantity A is greater.
Quantity B is greater.
(O The two quantities are equal.

Quantity B

x =yl

(D> The relationship cannot be determined from the

information given.

Unauthorized copying or reuse of
any part of this page is illegal.
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Distribution C

Distribution D

6 6
5 5
Frequency gr Frequency g:
2+ — 2
1 — 1+
0 0
10 20 30 40 50 10 20 30 40 50

The preceding frequency distributions represent two groups of data.

Each of the data values is a multiple of 10.

Quantity A

The standard deviation of
distribution C

(AD Quantity A is greater.
Quantity B is greater.

Quantity B

The standard deviation of
distribution D

(O The two quantities are equal.
(D) The relationship cannot be determined from the information

given.

Unauthorized copying or reuse of
any part of this page is illegal.
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Questions 6 to 15 have several different formats, including both

selecting answers from a list of answer choices and numeric
entry. With each question, answer format instructions will be
given.

Numeric Entry Questions

These questions require a number to be entered by circling entries
in a grid. If you are not entering your own answers, your scribe
should be familiar with these instructions.

1. Your answer may be an integer, a decimal, or a fraction,

and it may be negative.

2. Equivalent forms of the correct answer, such as 2.5 and
2.50, are all correct. Fractions do not need to be reduced
to lowest terms, though you may need to reduce your
fraction to fit in the grid.

3. Enter the exact answer unless the question asks you to
round your answer.

4. If a question asks for a fraction, the grid will have a
built-in division slash (/). Otherwise, the grid will have
a decimal point.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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5. Start your answer in any column, space permitting.
Circle no more than one entry in any column of the
grid. Columns not needed should be left blank.

6. Write your answer in the boxes at the top of the grid and

circle the corresponding entries. You will receive credit

only if your grid entries are clearly marked, regardless

of the number written in the boxes at the top.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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Examples of acceptable ways to use the grid:

Integer answer: 502 (either position is correct)

2

0

0/0[0/0|@ 0]o0

21212121222

31313(3/3[3]3
4141414444
50555515

6,66 6|6 6|6
TVT 717|777
818|888 |8|8
9991919191919

2

0

GO ON TO THE NEXT PAGE.
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Decimal Answer: —4.13

4 1
.0 ol T
0[0/0[0]|0]0]0
L1111 @1
202121202212
3(313(3(3[3(3
414 (4\@ 444
505/5/5(5/5]5
6166|6666
7171707171717
88 8|8(8|8/8
9191999909
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Fraction Answer: —

SIS

2 /1110
000 0|@] 0
1111 Ml 1]1
2 @] 2 21212
3033 30313
444 444
5055 5055
6|66 6|66
71717 71717
8|88 8|88
9919 91919
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This question has five answer choices. Select the best one of the

answer choices given.

c—d

6. Ifc+d

= 2 and d =1, what 1s the value of ¢ ?

A 1
@ 0
©
@D 2
E -3

This question has five answer choices. Select the best one of the

answer choices given.

7. A business owner obtained a $6,000 loan at a simple annual
interest rate of 7 percent in order to purchase a computer. After
one year, the owner made a single payment of $6,840 to repay
the loan, including the interest. What is the value of » ?

A 170
8.4
© 123
D 14.0
E 16.8

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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This question does not have any answer choices; it 1s a numeric

entry question. To answer this question enter a fraction by circling

entries in the grid provided on the following page. The fraction can

be positive or negative. Neither the numerator nor the denominator

of the fraction can include a decimal point. The fraction does not

have to be in lowest terms.

ListL: 2, x, y
ListM: 1,2,3, x, y

8. If the average (arithmetic mean) of the 3 numbers in list L

is ?, what 1s the average of the 5 numbers in list M ?

Unauthorized copying or reuse of
any part of this page is illegal.

GO ON TO THE NEXT PAGE.
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Give your answer as a fraction.

/
—10[01]0 0[0]0
I |11 I |11
2122 2122
3133 3133
4144 4144
51515 51515
6|66 6|66
7177 7177
8 | 88 8 | 8|8
91919 91919
any part of this page is Mlogal. GO ON TO THE NEXT PAGE.
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This question has three answer choices. Select all the answer
choices that apply. The correct answer to a question of this type

could consist of as few as one, or as many as all three of the answer
choices.

9. Which of the following inequalities have at least one positive
solution and at least one negative solution?

Indicate all such inequalities.

A §x<x
B x3<x

Cl x—-6<x-7

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.

-36-



This question has five answer choices. Select the best one of the

answer choices given.

10. If (SSX)(25) = 5", where n and x are integers, what is the

value of #n in terms of x ?

A 5x+1
5x+2
C 5x+5

(D> 10x
CED 10x +2

Unauthorized copying or reuse of
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This question has five answer choices. Select the best one of the

answer choices given.

11. Ofthe 180 judges appointed by a certain President, 30 percent

were women and 25 percent were from minority groups. If é of

the women appointed were from minority groups, how many of
the judges appointed were neither women nor from minority
groups”?

@A 75
B 81
© 87
D> 93
E 99

Unauthorized copying or reuse of
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This question has five answer choices. Select the best one of the

answer choices given.

12. If an integer is divisible by both 8 and 15, then the integer also
must be divisible by which of the following?

A 16
B 24
© 32
D 36
B 45

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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This question has five answer choices. Select the best one of the

answer choices given.

13. A certain experiment has three possible outcomes. The

outcomes are mutually exclusive and have probabilities p, g,
and %, respectively. What is the value of p ?
® 1
7
2
2
3
© 3
4
@ 3
5
®& 3
any part of ths page s legar. GO ON TO THE NEXT PAGE.
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This question has six answer choices. Select all the answer choices
that apply. The correct answer to a question of this type could
consist of as few as one, or as many as all six of the answer choices.

14. In triangle ABC, the measure of angle B is 90°, the length of

side AB 1s 4, and the length of side BC is x. If the length of
hypotenuse AC is between 4 and 8, which of the following
could be the value of x ?

Indicate all such values.

Al 1

gllc !

2
3
4
5
6

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
-41-




This question has five answer choices. Select the best one of the

answer choices given.

15. Each month, a certain manufacturing company’s total expenses
are equal to a fixed monthly expense plus a variable expense
that is directly proportional to the number of units produced by
the company during that month. If the company’s total expenses
for a month in which it produces 20,000 units are $570,000, and
the total expenses for a month in which it produces 25,000 units
are $705,000, what is the company’s fixed monthly expense?

CA>  $27,000
$30,000
@ $67,500
D> $109,800
E $135,000

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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STOP

This is the end of Section 4. In an actual test, once you complete
a section you may not return to it.

Unauthorized copying or reuse of
any part of this page is illegal.
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55 &5 &5 &5 & 55

Section 5
Quantitative Reasoning
20 Questions

Directions: For each question, indicate the best answer, using the
directions given.

Notes: All numbers used are real numbers.

All figures are assumed to lie in a plane unless
otherwise indicated.

Geometric figures, such as lines, circles, triangles, and
quadrilaterals, are not necessarily drawn to scale.

That 1s, you should not assume that quantities such as
lengths and angle measures are as they appear in a
figure. You should assume, however, that lines shown
as straight are actually straight, points on a line are in
the order shown, and more generally, all geometric
objects are in the relative positions shown. For
questions with geometric figures, you should base
your answers on geometric reasoning, not on
estimating or comparing quantities from how they are

drawn in the geometric figure.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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Coordinate systems, such as xy-planes and number
lines, are drawn to scale; therefore, you can read,
estimate, or compare quantities in such figures from

how they are drawn in the coordinate system.

Graphical data presentations, such as bar graphs, circle
graphs, and line graphs, are drawn to scale; therefore,
you can read, estimate, or compare data values from

how they are drawn in the graphical data presentation.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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For each of Questions 1 to 7, compare Quantity A and
Quantity B, using additional information centered above the
two quantities if such information is given. Select one of the
following four answer choices.

A Quantity A is greater.
Quantity B is greater.
© The two quantities are equal.

(D> The relationship cannot be determined from the
information given.

A symbol that appears more than once in a question has the
same meaning throughout the question.

Quantity A Quantity B

Example 1: (2)(6) 246

The correct answer choice for Example 1 1s A. (2)(6), or 12, is
greater than 2 + 6, or 8.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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55 &5 &5 &5 & 55
0

P R

Quantity A Quantity B

Example 2: The length of PS The length of SR

The correct answer choice is D. The relationship between the
lengths of PS and SR cannot be determined from the information
given since equal measures cannot be assumed, even though the
lengths of PS and SR appear to be equal in the figure.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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The length of each side of equilateral triangle 7 is 6 times
the length of each side of equilateral triangle X.

Quantity A Quantity B

1. The ratio of the length of The ratio of the length of
one side of T to the length  one side of X to the length
of another side of T of another side of X

CAD Quantity A is greater.

Quantity B is greater.

(O The two quantities are equal.

(D> The relationship cannot be determined from the

information given.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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x> 1
Quantity A Quantity B
. X —X
x+1 1 —x

CAD Quantity A is greater.

Quantity B is greater.

(O The two quantities are equal.

(D> The relationship cannot be determined from the

information given.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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In the xy-plane, the point (1, 2) is on line j, and the
point (2, 1) is on line k. Each of the lines has a positive
slope.

Quantity A Quantity B

3. The slope of line j The slope of line &

CAD Quantity A is greater.

Quantity B 1s greater.

(O The two quantities are equal.

(D> The relationship cannot be determined from the

information given.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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n 1is a positive integer.

Quantity A Quantity B
4. The remainder when #n is The remainder when n + 10
divided by 5 is divided by 5

CAD Quantity A is greater.

Quantity B is greater.

(C> The two quantities are equal.

(D> The relationship cannot be determined from the

information given.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
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A right circular cylinder with radius 2 inches has volume
15 cubic inches.

Quantity A Quantity B

5.  The height of the cylinder 2 inches

CAD Quantity A is greater.

Quantity B 1s greater.

(O The two quantities are equal.

(D> The relationship cannot be determined from the

information given.

Unauthorized copying or reuse of
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55 &5 &5 &5 & 55

: : : 1
k 1s an integer for which F <3
Quantity A Quantity B
6. k —2

(AD Quantity A is greater.

Quantity B 1s greater.

(O The two quantities are equal.

(D> The relationship cannot be determined from the

information given.

n is an integer greater than 0.

Quantity A Quantity B
7. The number of different The number of different
prime factors of 9n prime factors of 8n

CAD Quantity A is greater.

Quantity B 1s greater.

(O The two quantities are equal.

(D> The relationship cannot be determined from the

information given.

Unauthorized copying or reuse of
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Questions 8 to 20 have several different formats, including both
selecting answers from a list of answer choices and numeric
entry. With each question, answer format instructions will be
given.

Numeric Entry Questions

These questions require a number to be entered by circling entries
in a grid. If you are not entering your own answers, your scribe
should be familiar with these instructions.

1. Your answer may be an integer, a decimal, or a fraction, and
it may be negative.

2. Equivalent forms of the correct answer, such as 2.5 and 2.50,
are all correct. Fractions do not need to be reduced to lowest
terms, though you may need to reduce your fraction to fit in
the grid.

3. Enter the exact answer unless the question asks you to round
your answer.

4. If a question asks for a fraction, the grid will have a built-in
division slash (/). Otherwise, the grid will have a decimal
point.
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5. Start your answer in any column, space permitting. Circle no
more than one entry in any column of the grid. Columns not
needed should be left blank.

6. Write your answer in the boxes at the top of the grid and
circle the corresponding entries. You will receive credit
only if your grid entries are clearly marked, regardless
of the number written in the boxes at the top.

any part of this page i Hegal. GO ON TO THE NEXT PAGE.
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Examples of acceptable ways to use the grid:
Integer answer: 502 (either position is correct)

510 |2 510 (2
0/0[(0]0|0]|0 0[0[0/0[ 0]0
11 |1]1]1]1]1 11111 |1]1
2121212122 212(2(2(2|2)]2
303(3(13[3/3/3 313(3[3[3/3]3
4141414444 4141414444
5/5)5[5[5|5]5 5055|5515
6/6|6|6|6|6]|6 6/6|6|/6|6|6]6
717171717177 7171717171717
8/8|/8|8[8|8]8 8/8/8/8[8|8|8
919/9/9/9(9|9 9/9/9/9/9/9]9

any part of this page i egal. GO ON TO THE NEXT PAGE.
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Decimal Answer: —4.13

— 4 .]1|3
0/,0/0/0]0]0]0
111111
212221222
313(3(3(3/3|(3)
41414 |@|4]4)4
5/5|5|515]515
6166|6666
TV717 171|777
8 1888|888
919(919(19(919
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Fraction Answer: _2

10

— 2 /11]0
>]0]0]0 0|0
1111 |11
21| 2 21212
31313 3133
41414 41414
51515 51515
6166 6166
7177 7177
8 | 8| 8 8 | 8|8
91919 91919

any partof his page 1 egal. GO ON TO THE NEXT PAGE.
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This question has five answer choices. Select the best one of the

answer choices given.

8. Working at their respective constant rates, machine I makes
240 copies in 8 minutes and machine II makes 240 copies
in 5 minutes. At these rates, how many more copies does
machine II make in 4 minutes than machine I makes in

6 minutes?

A 10
B 12
© 15
D 20
E 24
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This question does not have any answer choices; it is a numeric
entry question. To answer this question, enter a number by circling
entries in the grid provided below. The number can include a
decimal point, and can be positive, negative, or zero. The number

entered cannot be a fraction.

9. Among the people attending a convention in Europe, 32 percent
traveled from Asia and 45 percent of those who traveled from
Asia are women. What percent of the people at the convention

are women who traveled from Asia?

%
0O[{0]0|0O]O0]|O0]O
1|11 (1]1]1]1
21212121222
313[3/13[313]3
41414141444
5075155535 |5
61 6|6 66|66
TN T T T T T
8| 8 8| 8|8 |88
9191919/9/191]9

any part of this page is Mlogal. GO ON TO THE NEXT PAGE.

-60-



55 &5 &5 &5 & 55

This question has five answer choices. Select the best one of the

answer choices given.

10. In the xy-plane, points R and S have coordinates (-2, 1)
and (4, —7), respectively. If point P is the midpoint of line

segment RS, what are the coordinates of point P ?

Unauthorized copying or reuse of
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This question has five answer choices. Select the best one of the
answer choices given.

11. A base of a triangle has length b, the altitude corresponding
to the base has length /4, and b = 2A. Which of the following
expresses the area of the triangle, in terms of 4 ?

1,2
2h

3,2

98 06 &
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This question has four answer choices. Select all the answer choices
that apply. The correct answer to a question of this type could
consist of as few as one, or as many as all four of the answer
choices.

12. Chris entered a number in his calculator and erroneously
multiplied the number by 2,073 instead of 2.073, getting an
incorrect product. Which of the following is a single operation

that Chris could perform on his calculator to correct the error?

Indicate all such operations.

A| Multiply the incorrect product by 0.001

Divide the incorrect product by 0.001

B
C| Multiply the incorrect product by 1,000
D

Divide the incorrect product by 1,000

Unauthorized copying or reuse of
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Questions 13 to 15 are based on the following data.

Distribution of the 50 States of the United States
by Population,* 2000

Population | Population
Category (millions)

0.0-1.9
2.0-3.9
4.0-5.9
6.0-7.9
8.0-9.9
10.0-11.9
12.0-13.9
14.0 and over

Number of States

T(QT IO m] >

02 4 6 8 10 12 14 16

*Population of each state is rounded to the nearest
0.1 million.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAG E.
-64-




55 &5 &5 &5 & 55

This question has five answer choices. Select the best one of the
answer choices given.

13. In 2000 the population of West Virginia was 1.8 million. If the
ratio of the population of Georgia to that of West Virginia was
9 to 2, in which population category was Georgia?

AD B
B C
CCO D
(D E
@ F
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This question has five answer choices. Select the best one of the

answer choices given.

14. The number of states in the two population categories C and D
was approximately what percent greater than the number in the
four population categories from E through H ?

R 36%
33%
© 30%
D 27%
E 20%

any part of this page i Hegal. GO ON TO THE NEXT PAGE.
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This question has five answer choices. Select the best one of the
answer choices given.

15. The median of the 50 state populations was in which population
category?

A 4
B B
© C
D D
@ E
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This question does not have any answer choices; it is a numeric
entry question. To answer this question, enter a number by circling
entries in the grid provided below. The number can include a
decimal point, and can be positive, negative, or zero. The number

entered cannot be a fraction.

16. If3x = 3 and x = Jy, what is the value of y ?

y=
0O[{0]0|0]O0]O0]O
I |11, 11/1]1
2121211212212
3131331333
41414144144
5/5]/5|5|5|5]5
66|66 6|66
7171717777
8| 8 8| 8|8 |88
9191919191919
any part of this page is Mlogal. GO ON TO THE NEXT PAGE.
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This question has five answer choices. Select the best one of the

answer choices given.

29 34% 34% 29,
14% 14%

-2 —1 0 1 2

17. The figure shows the standard normal distribution, with mean 0
and standard deviation 1, including approximate percents of the
distribution corresponding to the six regions shown.

Ian rode the bus to work last year. His travel times to work were
approximately normally distributed, with a mean of 35 minutes
and a standard deviation of 5 minutes. According to the figure
shown, approximately what percent of Ian’s travel times to work

last year were less than 40 minutes?

A 14%
34%
O 60%
D 68%
E 84%

any part of this page i Hegal. GO ON TO THE NEXT PAGE.
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This question has five answer choices. Select the best one of the

answer choices given.

18. For all integers x, the function f is defined as follows.

x—1 1fx is even
x+1 1fxisodd

1=

If @ and b are integers and f'(a) + f(b) = a + b, which of the

following statements must be true?

(AD a=b

a=-b

(C) a+bisodd.

@ Both a and b are even.

@ Both a and b are odd.
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This question has five answer choices. Select the best one of the

answer choices given.

2

19. If y “ +2 y_1 — 15 = 0, which of the following could be the

value of y ?

A 3

any part of this page i Hegal. GO ON TO THE NEXT PAGE.
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This question has six answer choices. Select all the answer choices
that apply. The correct answer to a question of this type could
consist of as few as one, or as many as all six of the answer

choices.

3.7,4.1, a,8.5,9.2, 2a

20. The six numbers shown are listed in increasing order. Which of
the following values could be the range of the six numbers?

Indicate all such values.

A

gllc !

4.0
5.2
7.3
11.6
12.9
14.1

Unauthorized copying or reuse of
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STOP

This is the end of Section 5. In an actual test, once you complete
a section you may not return to it.

End of The Graduate Record Examinations Practice General
Test #3.

Unauthorized copying or reuse of
any part of this page is illegal.

_73-



NO TEST MATERIAL ON THIS PAGE

_74-



NO TEST MATERIAL ON THIS PAGE

-75-






	Structure Bookmarks
	Practice General Test # 3 





Accessibility Report





		Filename: 

		gre-practice-test-3-quant-18-point.pdf









		Report created by: 

		



		Organization: 

		







[Enter personal and organization information through the Preferences > Identity dialog.]



Summary



The checker found no problems in this document.





		Needs manual check: 0



		Passed manually: 2



		Failed manually: 0



		Skipped: 1



		Passed: 29



		Failed: 0







Detailed Report





		Document





		Rule Name		Status		Description



		Accessibility permission flag		Passed		Accessibility permission flag must be set



		Image-only PDF		Passed		Document is not image-only PDF



		Tagged PDF		Passed		Document is tagged PDF



		Logical Reading Order		Passed manually		Document structure provides a logical reading order



		Primary language		Passed		Text language is specified



		Title		Passed		Document title is showing in title bar



		Bookmarks		Passed		Bookmarks are present in large documents



		Color contrast		Passed manually		Document has appropriate color contrast



		Page Content





		Rule Name		Status		Description



		Tagged content		Passed		All page content is tagged



		Tagged annotations		Passed		All annotations are tagged



		Tab order		Passed		Tab order is consistent with structure order



		Character encoding		Passed		Reliable character encoding is provided



		Tagged multimedia		Passed		All multimedia objects are tagged



		Screen flicker		Passed		Page will not cause screen flicker



		Scripts		Passed		No inaccessible scripts



		Timed responses		Passed		Page does not require timed responses



		Navigation links		Passed		Navigation links are not repetitive



		Forms





		Rule Name		Status		Description



		Tagged form fields		Passed		All form fields are tagged



		Field descriptions		Passed		All form fields have description



		Alternate Text





		Rule Name		Status		Description



		Figures alternate text		Passed		Figures require alternate text



		Nested alternate text		Passed		Alternate text that will never be read



		Associated with content		Passed		Alternate text must be associated with some content



		Hides annotation		Passed		Alternate text should not hide annotation



		Other elements alternate text		Passed		Other elements that require alternate text



		Tables





		Rule Name		Status		Description



		Rows		Passed		TR must be a child of Table, THead, TBody, or TFoot



		TH and TD		Passed		TH and TD must be children of TR



		Headers		Passed		Tables should have headers



		Regularity		Passed		Tables must contain the same number of columns in each row and rows in each column



		Summary		Skipped		Tables must have a summary



		Lists





		Rule Name		Status		Description



		List items		Passed		LI must be a child of L



		Lbl and LBody		Passed		Lbl and LBody must be children of LI



		Headings





		Rule Name		Status		Description



		Appropriate nesting		Passed		Appropriate nesting










Back to Top


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




